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2018
COST AND MANAGEMENT ACCOUNTING - II — GENERAL
Eighth Paper
(A-32-G)

( Group - A : Accounting and Finance )
Full Marks — 100

Candidates are required to give their answers in their own words as far as practicable
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Kilometerage run (annual) — 30,000,
Cost of Motor Van Rs. 12,00,000.
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Annual Expenses :

Rs.
Road Licence 24,000
Insurance 36,000
Garage Rent 10,000
Supervision Expenses 96,000
Driver's Monthly wages 10,000
Cost of Petrol per Litre 90
Repairs and Maintenance per km 4.80
Tyre Cost (Average) per km 3.00
Km run per litre of Petrol 30
Estimated life of Motor Van 1,20,000 km
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Particulars Process X  Process Y
Raw Materials Issued (6.000 units) Rs. 30,000 —
Additional Materials Rs. 2,000 Rs. 1,560
Direct Wages Rs. 28,000 Rs. 40,000
, Production overhead Rs. 6,000 Rs. 15,000
| Normal Loss as % of Input 10% 5%
Scrap value per unit Rs. 2 Rs. 5
Output in Units 5,600 5,200
8 | Process X @4 Process Y Fserra s ©@a! (4 Process X A/c @33
Process Y Alc d¥c %4 8 049
Process X Process Y
3 4
Cost of Raw Materials 10,000 —
Labour Cost 10,000 14,000
Factory Overhead 4,000 10,000

Finished articles of Process X is transferred to Process Y at a profit of
20% on transfer pricc and that of Process Y is transferred to finished stock at a
profit of 25% on transfer price. Goods received from Process Y are sold as final

finished goods in the market at ¥1,00.000.
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Sales 60.00,000 | 40,00,000 | 20,00,000
Marginal Costs 30.00.000 | 28.,00,000 | 12,00,000
Fixed Costs 20.00,000 | 16,00,000 5,00,000
(10% avoidable)
Profit/(Loss) 10,00,000 | (4.00,000) 3,00,000
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Particulars Product X ProductY ProductZ
(i) Selling Price per unit (Rs.) 200 150 100
(ii) P/V Ratio (%) 10 20 40

(iii) Maximum Sales Potential (units) 80,000 50,000 20,000
(iv) Raw-material content as a .

percentage of variable cost (%) 50 50 50
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At 60% Capacity
Direct Materials Rs. 3.,20,000
Direct Labour Rs. 80,000

Indirect Material and Spares Rs. 96,000




Indirect Labour Rs. 80,000
Rent Rs. 24,000
Electric Power (40% fixed) Rs. 16,000
Repairs and Maintenance (40% variable) Rs. 40,000
Insurance on Machinery Rs. 24,000
Y9t
) mﬁm%wﬁm@m?ﬁmwﬁwmwmﬁmm;
A1 (19 | Yo
> 1 fslEfe 2 28 Labour Cost Variance, Labour Rate Variance a3
Labour Efficiency Variance fiief 2 so
(a) Actual Hours Worked 8,000
(b) Actual Labour Rate per Hour Rs. 2
(¢) Standard hours per unit of output 9 hours
(d) Actual output 900 units
(e) Standard Labour Rate per hour Rs. 1.50
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Liabilities 311216 31.12.17 Assets 31.12.16 31.12.17
Rs. Rs. Rs. Rs

Equity Share Capital 80,000 1,00,000 Fixed Assets 1,20,000 1,50,000
10% Pref. Share Capital 40,000 24,000  Investments 14,000 18,000

Securities Premium —_ 10,000  Stock 40,000 46,000
General Reserve 32,000 36,000  Debtors 38,000 48,000
P/L Alc 8,000 14,000  Cash and Bank 12,000 18,000
Creditors 22,000 18,000  Prelimi nary
Provision for Taxation 24,000 46,000 Expenses 12,000 8,000
Proposed Dividend 30,000 40,000

2,36,000 2,88.000 2,36,000 2,88,000
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The figures in the margin indicate full marks
Group - A

.- Answer the following questions : 2x10
(a) Name the composite units which are used in case of the following
services :
(i) Goods Transport
(ii) Passenger Transport.
Or
What do you mean by output costing ?
(b) Name any two industries where service costing method is applied.
(¢) Mention any two advantages of Process Costi ng.
(d) How Transfer Price is determined in case of interprocess profit ?
(e) Give example of two Joint Products in case of Petroleum industry.
Or
What do you mean by 'by-product’ ?
(f) What do you mean by Break-even Point ?
Or
If Margin of Safety and P/V Ratio are given, how profit will be
calculated ?
(g) State two uses of CVP analysis,
Or
If actual sales and Break-even sales are given, how MOS will be
calculated ?
(h) How abnormal loss is valued in Process Costing ?
(1) What do you mean by Interest Coverage Ratio ?
(j) What is Ratio analysis ?
Or
Mention any two limitations of ratio analysis.

Group - B
2. Calculate the cost per running km for a motor van from the-following
information of AB Transport Ltd. : 6
Kilometerage run (annual) — 30,000:
Cost of Motor Van Rs. 12,00,000.
Annual Expenses :

: Rs.
Road Licence 24,000
Insurance 36,000
Garage Rent 10,000
Supervision Expenses 96,000
Driver's Monthly wages 10,000
Cost of Petrol per Litre 90
Repairs and Maintenance per km 4.80
Tyre Cost (Average) per km 3.00
Km run per litre of Petrol 30

Estimated life of Motor Van 1,20,000 km



. XY Ltd. produces a single product which undergoes two processes.

‘_,' ’

From the following information, prepare Process Accounts :

o

Particulars Process X Process Y !
Raw Materials Issued (6,000 units) Rs. 30,000 e
Additional Materials Rs. 2,000 Rs. 1,560
Direct Wages Rs. 28,000  Rs. 40,000
Production overhead Rs. 6,000 Rs. 15,000 '
Normal Loss as % of Input 10% 5% ‘
Scrap value per unit Rs. 2 Rs. 5 :
Qutput in Units 5,600 5,200

4. From the following information, prepare Process X A/c and
Process Y Alc :

3+3
Process X Process Y
4 3
Cost of Raw Materials 10,000 —
Labour Cost 10,000 14,000
Factory Overhead 4,000 10,000
Finished articles of Process X is transferred to Process Y at a profit of
20% on transfer price and that of Process Y is transferred to finished stock at a
profit of 25% on transfer price. Goods received from Process Y arc sold as final
finished goods in the market at 1,00,000.
Or
Distinguish between joint product and by-product. 6
5. Y Ltd. made sales during a certain period for Rs. 2,00,000. The Net
Profit for the same period was Rs. 20,000 and Fixed overhead were Rs. 30,000.
Find out :
(a) Profit-Volume (P/V) Ratio
(b) Break even point (BEP) sales
(c) Sales required to earn or profit of Rs. 30,000. 24242
Or
Beta Lid. furnished the following information :
Selling Price  Rs. 5 per unit
Variable Cost Rs. 3 per unit
It is expected that variable cost will increase by 20%. What will be
the new selling price per unit if the company wishes to maintain the same
P/V ratio ? . 6
6. The current ratio of a company is 2 : 1. State whether the current ratio
will increase or decrease or remain same as a result of each of the following
scparate and indepcndent situations :
(a) The firm pays any current liabilities
(b) Company sells its motor car in cash
(¢) Company purchases goods in cash
(d) The Company issues shares in cash
(e} The Company issues bonus shares
(f) The debtors of the company pays debt in cash. 6
Or
From the following details, determine the amount of opening stock and
closing stock. Stock Turnover Ratio 4 times, closing stock was Rs. 10,000 in
excess of opening stock. Purchases Rs. 1,10,000. 6

[Turn Over]



Gromp - C
7. Bishu Limited currently manufacemres three products — P, Q and R. The

,
-

following data are related to the immedia=iv preceding year :

Sales
Marginal Costs
Fixed Costs

(10% avoidable)
Profit/(Loss)

P Q

? 4
60.00.000 | 40.00.000
30.00.000 | 28.00.000
20.00.000 | 16.00.000
10.00.000 | (4.00,000)

R

?
20,00,000
12,00,000
5,00,000

3,00,000

The firm wants to discontinue Procdiact Q as it incurs losses.

Offer your suggestions as to whether procact Q should be discontinued. 10
Or

PQR Ltd. produces three products. farmshes the following information :

Particulars Product X ProductY ProductZ
(i) Selling Price per unit (Rs.) 200 150 100
(ii) P/V Ratio (%) 10 20 40
(iii) Maximum Sales Potential (umris: 80,000 50,000 20,000

(iv) Raw-material content as a
percentage of variable cost (%) 30 50 50

The company uses a single raw matenial for all the three products. Raw
material is in short supply and the company has a quota for the supply of raw
materials of the value of Rs. 36,00,000 for the current year for the manufacture of
its products and meet its sales demand.

Get a product mix which will give 2 maximum overall profit keeping
short supply of raw materials in view. 10

8. The statement given below shows the different expenss at 60% capacity.

Prepare a Flexible Budget at 75% capacity and 90% capacity. 10
At 60% Capacity

Direct Materials Rs. 3,20,000

Direct Labour Rs. 80,000

Indirect Material and Spares Rs. 96,000

Depreciation Rs. 1,20,000

Indirect Labour Rs. 80,000

Rent Rs. 24,000

Electric Power (40% fixed) Rs.” 16,000

Repairs and Maintenance (40% variable) Rs. 40,000

Insurance on Machinery Rs. 24,000

Or
What do you mean by standard costing ? Distinguish between standard

costing and budgetary control. 10

9. Calculate Labour Cost Variance, Labour Rate Variance and l.abour
Efficiency Variance from the following information : 10

(a) Actual Hours Worked 8.000
(b) Actual Labour Rate per Hour Rs. 2
(c) Standard hours per unit of output 9 hours

900 umts

(d) Actual output _




10. What arc the objectives of Financial Statement Analysis ?
Or
Write short notes on : 3+5
(a) Common Size Balance Sheet
(b) Trend Analysis.

11. Following arc the Balance Sheets of PQR Ltd. on 31.12.16 and
31.12.17 -

Liabilities 31.12.16 31.12.17 Assets 31.12.16 31.12.17

Rs. Rs. Rs. Rs.
Equity Share Capital 80,000 1,00,000  Fixed Assets 1,20,000 1,50,000
10% Pref. Share Capital 40,000 24,000  Investments 14,000 18,000

Securities Premium — 10,000  Stock 40,000 46,000
General Reserve 32,000 36,000  Debtors 38,000 48,000
P/, Afe 8,000 14,000  Cash and Bank 12,000 18,000
Creditors 22,000 18,000  Prel iminary

Provision for Taxation 24,000 46,000 Expenses 12,000 8,000
Proposed Dividend 30,000 40,000

2,36,000 2.88,000 2,36,000 2,88,000

—_—

Additional Information -
(a) Depreciation charged during the year Rs. 20,000.
(b) A fixed asset whose book value was Rs. 30,000 was sold for
Rs. 36,000,
(¢) During the year, income tax and dividend was paid for Rs. 28,000
and Rs. 30,000 respectively.
Prepare a Cash Flow Statement. 10
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